Econ 308 
Final Exam 
May 14, 1998 


Write all answers in your blue book. Show all of your work. 






1. (5pts) Using the values for the Consumer Price Index (CPI) below, find the annual U.S. inflation rate between January 1997 and January 1998. 

	Month
	CPI

	July, 1996
	157.2

	January, 1997
	159.4

	July, 1997
	160.6

	January, 1998
	161.9

	
	





2. Consider the Solow Growth Model. Assume that the labor force grows at the rate n, but that there is no growth in labor-augmenting technology. 
(a) (10pts) Explain how to find the golden rule steady-state levels of capital per worker and consumption per worker. In your explanation, refer to a graph with capital per worker on the x-axis and output per worker on the y-axis. 
(b) (10pts) True or false? The economy automatically reaches a steady state in the long run. Explain your answer, with reference to your graph from part (a). 
(c) (10pts) True or false? The economy automatically reaches the golden rule steady state in the long run. Explain your answer, with reference to your graph from part (a). 



3. (15pts) Describe how economists determine the natural rate of unemployment. 



4. Consider the following model. The banking industry holds one kind of deposit, a checking deposit. The money supply is defined to be currency in the hands of the public (C) plus deposits (D). The monetary base is currency in the hands of the public plus reserves (R) in the banking industry. Assume that the public holds some currency and that banks hold some excess reserves (ER). Let r be the required reserve ratio on deposits. 
Suppose the currency to deposit ratio is 0.2, the excess reserves to deposit ratio is 0.02, and the required reserve ratio is 0.08. 

(a) (10pts) What is the money multiplier for this economy? 
(b) (5pts) Describe an open market operation that would cause the money supply to ultimately rise by 20 million dollars. 
(c) (5pts) If the Fed were to sell one million dollars of government Treasury bills, what would ultimately happen to the money supply? 


5. (10pts) Assume that purchasing power parity holds. Suppose that the U.S. runs a 2.6% annual inflation rate over the next year, and Germany runs a 1.0% inflation rate. The current exchange rate is 1.77 marks to the dollar. What will the exchange rate be after one year? 



6. (25pts) Consider the IS-LM model. With reference to a Keynesian Cross diagram and an IS-LM diagram, explain what happens to real output and real interest rates when the government cuts taxes. 



7. (20pts) Do New Keynesians recommend active attempts to smooth the business cycle? Explain why or why not, with reference to an Aggregate Supply and Aggregate Demand diagram. 



8. (20pts) Do Real Business Cycle economists recommend active attempts to smooth the business cycle? Explain why or why not. 



9. (a) (15pts) Describe how to put Okun's Law and the Phillips Curve together to calculate the sacrifice ratio, the percent of a year's real aggregate output that must be foregone to reduce inflation by one percentage point. (Be sure to define Okun's Law and the Phillips Curve.) 
(b) (10pts) Explain how the Lucas Critique makes the concept of a sacrifice ratio suspect. 
(Be sure to define the Lucas Critique.) 



10. (15pts) If Ricardian Equivalence held, what would be the effect of a tax cut on consumption? Explain. 



11. (15pts) Consider the neoclassical model of business fixed investment. Suppose the real interest rate is 0.03, the depreciation rate of capital is 0.04, the marginal product of capital is 0.06, the nominal interest rate is 0.05, the price of capital is 10, and the price level is 10. Would the capital stock grow under these conditions? Explain.
